1) a=(2-31),b=(-1-23) . a,b

cosq , a*p, a b a,b
2) a, =(111),a, =(011),a, = (110)
3 : aXx+a,y=p
TaZIX + a22y = bZ
b a, a, b
b, a, a, b a, a,
X=———7=,y=—" =a;a, - a,a
a, ay|” lay a, 8, a, %0
&y, &y &y, &y

122X+ 35y - 14z = 480
2) t 18x - 11y+ 237 = 365

1. 2x+39y- 33z2=17

Mathematica
Solve[{22x+35y-14z==480,18x-11y+23z==365,-2x+39y-33z==17},{X,y,Z}]

5) 2

6)

7)

8 x

9

10)

Excel =mdeterm( )
Ctrl+Shift+Enter [ALl..B2] [C1..D2] [E1..F2]
[E1..F2] [E1] =mmult(Al1..B2,C1..D2)
Ctrl+Shift+Enter [ALl..B2] [A3..B4]
[A3.B4] [A3] =minverse(Al..B2) Ctrl+Shift+Enter

#NUM!
=transpose( )
Mathematica A={{a,b},{c,d}



B A.B A.B //MatrixForm

Inverse[A]



